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O s 2 5,000
ONM&E 2 < XM 2¢  100,000& *14)H 5™ 1,400
ZLHBEH(EXR) 6,000 6,000 0
= 3,000
= 3,000
307 2Iz2t0| & 6,000 6,000 0
= 3,000
= 3,000
02 QIZFAE AAIE E X 6,000 6,000 0
OZ+0olE28 22 6,000
= 3,000
= 3,000
Z20E2E (XA 1,340 1,340 0
201 gEt24Hy| 1,340 1,340 0
01 AP 2t 2] d| 1,340 1,340 0
OEZELol2Eg JigdEE 1,340




SN oERE D
Za: =272

Sl SRR ALY (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O8 =2 Ma 2 &3
60,0003 x13| 141 S ™ 840
OZ22Ed Y 2228 74 500
MEotd J|gt X4 1,290,097 884,969 405,128
CCTVEEZ2NMHEH 2 1,290,097 884,969 405,128
2HAEH 23 538,405 494,662 43,743
201 LBH2E| 538,405 494,662 43,743
01 At 22l 3,220 3,640 A 420
OBt~ 3,220
OZAIJLZBE EH(EH)AZE 2
450,000& *23] 900
OZHEH 298 83 ¢ 1,200
OSHBMME 2Eos &4 29
70,0003 x8H +23| 1,120
02 3323l 535,185 491,022 44,163
03323 % HA 284,025
OCCTVEIIR3 5,200 *360H 2 12 22,464
OcCCTvVd g3l = 58,7503 3553 &L 128 250,275
OZSSUCCTVEE 2 MUE HH dEd=
(WLRHSEsAELZ) 11,286
49,500 193 & 128
OA & EHl R XHl 251,160
O (MHEHSA)E CCTV RRE
33,084,000 » 14! 33,084
OgH(Sg4)E TV RXES
58,692,000 » 14! 58,692
OCCTVS S 2 MAIAE H/W S22
77,628,000 » 14! 77,628
OCCTVS S 2 HMAIAE S/W S22
81,756,000 » 14! 81,756
2HAE D& 275,705 263,420 12,285
405 RHoHF S HI 275,705 263,420 12,285
01 XAt 2 S FH S| 275,705 263,420 12,285
OXNSE ABIZALY 25
100,000, 000& * 14! 100,000
OZHMAIAE JIsSHA 94,000
OZAMBIEAAY JIsiid
44,000,000& =14 44,000
OZHGR SEACAALAE JIsHE
50,000,000 =14 50,000
OZHMAAEY &4 70,400
OSMMEEXN(AERXN) B4
48,000,000& * 14 48,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXlsd d82H ctolda 54
560, 000& *40CH 22,400
oA Tz e ¢ 11,305
OlU M= 1,070,000& = 1CH 1,070
OMHE 320,000& = 12CH 3,840
Ocl=sa 700,000& +8CH 5,600
OpPcE 26,5003 *30CH 795
CCTV & X 475,987 126,887 349,100
401 Al HIZ 201 Y] 475,987 126,887 349,100
01 A& HI 468,410 123,015 345,395
oYy E CCTV &X 447,410
LH(IGSHSOA)E CCTV(AI )
19,330,000 =7 CH 135,310
O I AL L (XNHHSA)E CCTV
19,330,000 *4CH 77,320
OggH(MHEHSAA)E CCTV(wA)
10,860, 0002 »7CH 76,020
Ogg(sg4)E CCTV(Al )
5,670,000 »28CH 158,760
(OF=Es| 21,000
OCCTV OI& ¥ 215 S7H|
3,500,000& =63l 21,000
03 Al 20l 7,577 3,872 3,705
OZHES CCTV &7 &X =23 7
270,600 *28H A 7,577
A2 (et 22| nt) 488,311 488,715 A 404
Jl23&dl 54,195 64,587 A 10,392
HYE =X ZH 3,000 3,600 A 600
203 YR =2t 3,000 3,600 A 600
04 EA2IYRFLH 3,000 3,600 A 600
ORN2IYR=AHI 250,000& »12& 3,000
22 A| 15,195 15,195 0
201 £B-2d| 15,195 15,195 0
01 At 22l 14,835 14,835 0
OBt~ 7,835
O =&l 7,000
02 =24l 360 360 0
03232 % HAl 360
04 dl 36,000 45,792 NQ,792
202 O4dl 36,000 45,792 ANQ,792
01 = LH 4 Hi 36,000 45,792 N9,792




S obA 22| I}
MM NI HY (ot 22| D)
pase A

- _ _ RE]
SA BB (SH) - NRAY - B %@i 2t
| CERIE] 36,000
A2 AHI 434 116 424, 9,988
2| 434 116 424, 9,988
101 2124 H] 434 116 424, 9,988
03 2L (RIHS) 22 E 434 116 424, 9,988
O2MELIHRE 434,116
(OPIR==1 9,160 x160Al 2+ *12H 14 & 246,221
OIELSY 100,000& 12 x12& 14,400
OYAESIIHl 9,160 *160A] 2t *x60%*12H *23| 21,105
OFs24 9,160 *7 Al 2H%52L x12H 40,011
Osg224g
9,160 *7 Al 2t*1 517 x12H 19,621
ootz
9, 1602 *0.5%54 Al 2Hx 122 x 12& 35,615
oorg syl 50,0002 12 x12& 7,200
o4 282 384,173,000 *13% 49,943
S(otde ) 319,276 285, 33,662
WHWEHeH XS (eHE 2tel1t) 319,276 285, 33,662
Mer2e| 2 852 319,276 285, 33,662
702 1282 319,276 285, 33,662
(PIERSE = 319,276 285, 33,662
oMU 2 =2 319,276




